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'2.1 Introduction |

Number system consists of real numbers (—5,7,%,«/5 .............. etc.) and imaginary numbers

(V-5,v-9....etc.) If we combine these two numbers by some mathematical operations, the

resulting number is known as Complex Number i.e., “Complex Number is the combination of real
and imaginary numbers”.
(1) Basic concepts of complex number

(i) General definition : A number of the form x +iy, where x,yeR and i= J=1 is called a
complex number so the quantity v-1 is denoted by 'i' called iota thus i=v-1.

A complex number is usually denoted by z and the set of complex number is denoted by ¢

ie., c={x+iy:xeR,yeR,i=w/——l}

For example, 5+3i-1+i,0+4i4 +0i etc. are complex numbers.

Wo& : Q Euler was the first mathematician to introduce the symbol i (iota) for the square

root of - 1 with property i* = -1. He also called this symbol as the imaginary unit.
Iota (i) is neither 0, nor greater than 0, nor less than 0.
The square root of a negative real number is called an imaginary unit.

For any positive real number a, we have v-a =v-1xa=+v-1Va =iva

iv-—a=-a.

The property vavb =+ab is valid only if at least one of a and b is non-negative. If
a and b are both negative then vavb =-vab .

Q If a<0 then Ya=.[ali.

2) Integral powers of iota (i) : Since i=+v-1 hence we have i*=-1, i =—i and i* =1. To find
( gral p

O 0OOO0oOo

the value of " (n >4), first divide n by 4. Let q be the quotient and r be the remainder.

iie., n=4q+r where 0<r<3

" =B ) =) .G =i

In general we have the following results i*" =1, i*""' =4 i*"*? =-1,i*"** =—i, where n is any
integer.

In other words, i" =(-1)"’? if n is even integer and i" = (-1)"""/?%i if n is odd integer.

The value of the negative integral powers of i are found as given below :
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1 =—=—=1 =—l’l =—=—=—l[ =—=—=—=[,] =—=—=]_
i i i -1 Pt it 1
Important Tips

@  The sum of four consecutive powers of i is always zero i.e., i" +i"' +i"? +i"* =0,nel

& i" =1,i,=1,-i where n is any integer.
e (1+)=2i(1-9)" =-2i

1+i  1-i . 2
1-i 1+i -1

200
Example: 1 If i# =-1,then the value of Z:“ is

(a) 50 (b) - 50 (oo (d) 100

-II:IJ
Solution: (c) Zf‘-rﬂ EY A R o (I] (since G.P.)= '(:_P)
—i oy

=0.

Example: 2 If i=y-1 andnisa positive integer, than T N Y [Rajasthan PET 2001; Karnataka CET 1994]

(a) 1 (b) i @ (d) o
Solution: (d) "+ +2+ =" +i+i+)="(l+i-1-i)=o0.
Trick: Since the sum of four consecutive powers of i is always zero.

= M+ 4 =0, nel

Example: 3 If [1 * i} =1 then [AIEEE 2003; Rajasthan PET 2003]

(a) x = 4n, where n is any positive integer (b) x = 2n, where n is any positive integer
(c) x = 4n +1, where n is any positive integer  (d) x = 2n +1, where n is any positive integer

1 . . AT
Solution: (a) l—'“~=«llm = (ﬁ] =l =>i=1=x=4nnel.
-i i 1+ 1-i
Example: 4 1+ 48+ 4.+ is [EAMCET 1980]
(a) Positive (b) Negative (c) Zero (d) Can not be determined
Solution: (d) 1+ +# +8 +. 4" = Zi” =lor-1 (which is depend upon the value of n).
k=0
Example: 5 If x=3+ithen x’ -3x"-8x+15 = [UPSEAT 2003]
(a) 6 (b) 10 (c) -18 (d) -15
Solution: (d) Given that; x-3=i = (x -3’ =i = x> -6x+10=0
Now, x° —=3x>-8x+15 = x(x> =6x +10)+ 3(x* - 6x +10)-15 =0 +0-15 =-15.
2" +.)2"
Example: 6 The complex number =z + ,(neZ) is equal to
-1
(a) o (b) 2 © [+ (d) None of these

Solution: (d) (1+)™ =(A+)) =1+ +2)f =(1-1+2 =2"7"
- = (- =+ =20 =(1-1-2)" = (27

www‘aepsludycircle.comn A EPSTUDY CIRCLE
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2.2 Real and Imaginary Parts of a Complex Number |

If x and y are two real numbers, then a number of the form z =x+iy is called a complex

number. Here ‘x’ is called the real part of z and ‘y’ is known as the imaginary part of z. The real
part of z is denoted by Re(z) and the imaginary part by Im(z).

If z=3 - 4i, then Re(z) = 3 and Im(z) = - 4.
Ne#e : 0 A complex number z is purely real if its imaginary part is zero i.e., Im(z) = 0 and
purely imaginary if its real part is zero i.e., Re(z) = 0.
QU ican be denoted by the ordered pair (0,1).
U The complex number (a, b) can also be split as (a, 0) + (0, 1) (b, 0).

Important Tips

@ A complex number is an imaginary number if and only if its imaginary part is non-zero. Here real part may or
may not be zero.

@ All purely imaginary numbers except zero are imaginary numbers but an imaginary number may or not be purely
imaginary.

@ A real number can be written as a + i.0, therefore every real number can be considered as a complex number

whose imaginary part is zero, Thus the set of real number (R) is a proper subset of the complex number (C) i.e., R
cC.

@ Complex number as an ordered pair : A complex number may also be defined as an ordered pair of real numbers
and may be denoted by the symbol (ab). For a complex number to be uniquely specified, we need two real
numbers in particular order.

2.3 Algebraic Operations with Complex Numbers |

Let two complex numbers z, =a+ib and z, =c+id

Addition : @+ib)+(c+id)=(@+c)+ib+4d)

Subtraction : (@+ib)-(c+id)=(@-c)+ib-d)

Multiplication : (a+ib)(c+id)=(ac—bd)+iad+bc)

Division a+ib (when at least one of ¢ and d is

c+id
non-zero)
a+ib _(a+ib) (c-id)
c+id (c+id) (c-id)

(Rationalization)

a+ib_(ac+bd)+i(bc—ad)
c+id c*+d*  ct+d?

(s www.acpstudycirclc.comn AEPSTUDY CIRCLE
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Properties of algebraic operations with complex numbers : Let z,,z,and z, are any

complex numbers then their algebraic operation satisfy following operations:
(i) Addition of complex numbers satisfies the commutative and associative properties
le, z,+2,=2,+z, and (g, +2,)+25 =7, +(z, +23)-
(ii) Multiplication of complex number satisfies the commutative and associative properties.
i.e., 2,2, =2,7; and (2,2,)z5 = 2;(2223)-
(iii) Multiplication of complex numbers is distributive over addition

i.e., Zl(Zz +Z3)= 2122 7125 and (Zg +Z3)Z] =2Z2Z; +232;-
|/Va£2 : 0=0+0i is the identity element for addition.

O 1=1+0i is the identity element for multiplication.

U The additive inverse of a complex number z=a+ib is -z (i.e. - a - ib).
1

U For every non-zero complex number z, the multiplicative inverse of z is —.
z

1-2i 4-i

E le: — = Rajasthan PET 198
xample: 7 27 +3+2i [Rajasthan 1987]
24 10, 10 . 10 24 10 24

(a) E+E! (b) E E (3] E"'El ( ) = E
Solution: (d) 1—21+ 4-i - =(1—21)(3 +2D)+@-D2+10) = 50-120i 10 _&L
241 3+2i 2+0D(3+2) 65 13 13
Example: 8 ! + i [3 +4i [Roorkee 1979; Rajasthan PET 1999]
1-2i 1+ij\2-4i
1.9, 1 9, 1 9 9
—+Z = ——Z; d) —+2
(a) 2+21 (b) 3 21 (c) 2 41 ()4+4:

Solution: (d) 1, 3 \(3+4i) _[1+2i  3-3i [6-16+12i+8i] _(2+4i+15-15i)(-1+2i
’ 1-2i 1+ij\2-4i 12+22 12477 22447 10 2
_(7-119-1+20) _5+45i_1 9.
20 20

cos @ .

is a real number, is
1-2icos @

Example: 9  The real value of # for which the expression

(a) ne+x/2 (b) nz—-=/2 (€) nexx/2 (d) None of these

Solution: () Given that 1+icosf _ (1+icos@)(1+2icosh) [(l 2 cos? 6)]+ [ 3cos @ ]

1-2icos@  (1-2icos@)(1+2icos8) |(+4cos’8)| |1+4cos’8

Since Im(z)=0, then 3cosf#=0 = G=nz+x/2.

'2.4 Equality of Two Complex Numbers | .

Two complex numbers z, =x, +iy, and 2z, =x, +iy, are said to be equal if and only if their

real parts and imaginary parts are separately equal.

@ www.aepstudycircle.comn AEPSTUDY CIRCLE
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Le, z,=2, > x,+iy, =x,+iy, © x; =x,and y, =y,.
Thus , one complex equation is equivalent to two real equations.

Note : Q

A complex number z=x+iy=0 iff x=0,y=0.

U The complex number do not possess the property of order i.e., (a+ib)<(or)>(c+id) is

not defined. For example, the statement 9 + 6i > 3 + 2i makes no sense.

Example: 10 Which of the following is correct

(a) 6+i>8-i (b) 6+i>4-i (€) 6+i>4+2i (d) None of these
Solution: (d) Because, inequality is not applicable for a complex number,
6if -3i 1
Example: 11 If |4 3i -1|=x+iy, then [MP PET 2000; IIT 1998]
203 i
(a) x =3, y=1 (b) x =1, y=3 (c) x=0, y=3 (d) x =0,Yy=0
6i -3i 1
Solution: (d) (4 3i -1 Applying C2 - C, +3iC,4
20 3 i
6i 0 1
4 0 -1l =0 =0+ 01, Equating real and imaginary partsx =0,y =0
200
Example: 12  The real values of x and y for which the equation (x* +2xi)=(3x% +yi) = (3= 5)+(1 + 2yi) is satisfied, are [Roorkee
(a) x=2,y=3 (b) x=-2,y= % (c) Both (a) and (b) (d) None of these

Solution: (¢) Given equation (x* +2xi)=(3x? +y))=(3=5)+(1+2y) = (x*=3x")+i2x-3y)=4-5i

Equating real and imaginary parts, we get
H-3’=4 L (i) and 2x-3y=-5

1
Form (i) and (ii), we get x=+2 and y= 3.5.
1
Trick: Put x=2,y=3 and then x=-2,y= T we see that they both satisfy the given equation.

B Conigats o2 CompieX Number]

(1) Conjugate complex number : If there exists a complex number z = a +ib, (a,b) € R, then its

conjugate is defined as 7 =a-ib.

Hence, we have Re(z)=z—-|2-z~ and Im(z)=22;fz. Geometrically, the
i

O Imaginary
]
/ }b\
[
N

conjugate of z is the reflection or point image of z in the real axis. 0 Rea | X
(2) Properties of conjugate : If z,z,and z,are existing complex 5 o
numbers, then we have the following results:
(1) @)=z (i) z,+2, =2, +2,
(iii) z,-2, =7, - Z, (iV) 2,2, =7, Z,» In general 7,.2,.25.....2, = 7,225

"5} www.aepstudycircle.comn
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) [i—} =j= 2,%0 Vi) @ ="

(vii) z+z=2Re(z)=2Re(z)= purely real (viii) z-z =2ilm(z)=purely imaginary
(ix) zz = purely real (x) 7,2, + 7,2, = 2Re(z,2,) = 2Re(z,2,)
(xi) z—z=0i.e, z=7 & z is purely real i.e., Im(z)=0

(xii) z+z =0 i.e., z=-z < either z=0 or z is purely imaginary i.e., Re(z) =0

(xiii) z, =z, © 7, =2, (xiv) z=0 7=0

(xv) z7=02z=0 (xvi) Ifw = f(z)then w = f(2) (xvii)
re’ =re™

Important Tips

@  Complex conjugate is obtained by just changing the sign of i.
@  Conjugate of i=-i
@  Conjugate of iz =-iz
@ (z,+2,) and (z,.z,)real <>z, =7, OF z, =7,
. A

312y =212,

(3) Reciprocal of a complex number : For an existing non-zero complex number z =a+ib, the

. o a1 Z . - 1 a-ib Re -Im Z
reciprocal is given by ' =~=—— ie., ' =—— = = (? ! EZ)] =,
z |z a+ib a*+b* |z| | z| | Z]
Example: 13  If the conjugate of (x+iy) (1-2i) be 1+i, then [MP PET 1996]
1 3 1-i 1-i
a) x=— b) y== €) x+iy=—— d) x-iy=——+
()x5 ()y5 (© ey (d Y=1i2
Solution: (c) Given that (x+iy)(1-2)=1+i = x-iy=% Dx+iy =%
+ -zl
Example: 14 For the complex number z, one from z+z and z7 is
(a) A real number (b) An imaginary number
(c) Both are real numbers (d) Both are imaginary numbers

Solution: (c¢) Here z+7 =(x +iy)+(x-iy)=2x (Real) and zZ =(x+iy)(x —iy)=x> +y” (Real).

Example: 15 The complex numbers sinx +icos 2x and cosx - isin 2x are conjugate to each other for [1IT 1988]
(2) x=nz (b) x=(n+%]fr © x=0 (d) No value of x
Solution: (d) sinx + icos 2x andcos x - isin 2x are conjugate to each other if sin x=cos x and cos 2x = sin 2x
or tmx=12x=22 9% () and tm2=122:=22% 5% or x=Z 3% 9% (i) There
4 4 4 4 4 4 8 8 8

exists no value of x common in (i) and (ii). Therefore there is no value of x for which the given
complex numbers are conjugate.

Example: 16 The conjugate of complex number 4_ ,' is [MP PET 2004]
-1
3i 11 +10i 11 -10i 2+43i
a) — b c d
(a) n (b) ” () 5 (d) Y

www‘aepsludycircle.comn AEPSTUDY CIRCLE
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Solution: (b) 2-3i _ (2-30Dd +1) _ 8+3—12:+2:= 11-10i = Conjugate = 11+10:.
4-i (E-dd+) 16 +1 17 17
Example: 17 The real part of (1-cos @+2isin@)"! is [Karnataka CET 2001; IIT 1978, 86]
1 1 1 1
aj — b c d
(@) 3+5cos@ (®) 5-3cos@ © 3-5cos@ @ 5+3cos@

-1 -1 -1
Solution: (¢) {(1-cos 9)+i.25in€}"={25inzg+i.4 sin%ms %} = [2 sing) {sing+i2ms %}

sing-i.?.cos— si::.E—:'_ZocasE
2 2

o)
2

-1
1
= 25in—] X =
[ . 8 . g .8 . 8 2] 7]
sin—+i2cos — sin—-—i2cos — in = | ein? —
2 2 2 2 2 sin [sm +4

sin — 1 1
Hence, real part = 7 2 7 = r =5 y—y
Zsin3(1+3mszi] 2(l+3005251 T

Example: 18 The reciprocal of 3+47i is
3 V1, : 3 V1, .
(a) 2- i (b) 3-7i (©) -1 (d) V743
Solution: (c) L .3"5"= 3'ﬁi= 3'ﬁi=l_£i
3471 3447 3-V1i 9+7 16 16 16

2.6 Modulus of a Complex Number

Modulus of a complex number z=a+ib is defined by a positive real number given by
| z|=va® +b*, where a, b real numbers. Geometrically |z| represents the distance of point P
(represented by z) from the origin,

i.e. |z| = OP.

If |z| 0, then z is known as zero modular complex
number and is used to represent the origin of reference plane.

If |z| = 1 the corresponding complex number is known as
unimodular complex number. Clearly z lies on a circle of unit

radius having centre (0, 0).

I/Vi: U In the set C of all complex numbers, the order relation is not defined. As such
7; >z, > Or 7, <z, has no meaning. But | z,|>| z,|or| z,| </ z,| has got its meaning
since | z,|and | z,| are real numbers.

Properties of modulus
(i) |z| 2 0 =|z| =0iffz=0 and |z|>0iffz# 0.
(ii) -|z| <Re (x)<|z| and -|z|<Im(z)<|z]|

(i) [2|=|2/=|-2|=|-Z]4 i

www.acpstudycirclc.comn
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(iv) zz=|z|" 4 2/°

W) |22, \=|z1||z2 |. In general |z,2,2;......2,| =| 2, || 22 | | 23| 2

||
|z2|

(vii) | z"|= z|",ne N

(vi) , (2, 20)

Z;

- 2 2 - - _
(viii) [Z;izz|2=(zlizg)(31iz2)=|z,| + 2, | (@12, +712,) OF 14,17+ 251> +2Re(z,Z)

(%) |z, +2, [ =z | +| 2| 2L is purely imaginary or Rt{z—‘Jﬂ]
4y %

2 2 2 2
(X) |2, +2,| +|2, -2, =2{\zl| +|z2| } (Law of parallelogram)

(xi) |az, bz, | +|bz, +az,|" = (a® +bz)(|zl I’ +|z, |’ ), where a,b € R.

Important Tips
& Modulus of every complex number is a non-negative real number. | z|=0iffz=01i.e, Re(z)=Im(z)=0
-1
@ | z| 2 Re(z)] 2 Re(z) and| z| 2 Im(z)| 2 Im(z) °"IzI=I¢z=;
@ =1 @ Iél is always a unimodular complex number if z#0
z z
@ é is always a unimodular complex number if z+#0 @ | Re(2)| +] Im(z)] < Jil i
H
@ [zl =l zall 9 2y +2519 241 +] 251
Thus| z,| +| z,| is the greatest possible value of | z, +z,| and| z,|-| z,| is the least possible value of | z, +2,|
' 2 ’ 2
e I z+l=a. the greatest and least values of | z| are respectively at ; +4 and ~4% ; *+4
Z
tal |31+\‘212_Z%|+| 21‘\/312‘2§|=12|+22|+|2|‘22|
(2+1)
Example: 19 (l+:')(3 ) = [MP PET 1995, 99; Rajasthan PET
+1

1998]

(a) -1/2 (b) 1/2 (c) 1 (d-1
Solution (c) e (1+:)(2+1) 1+3i b 3+4l:‘| =1

B+ 3+i 3-i 5
Trick : 4= 2al1 22l _ 3245 _
25 Jﬁ

Example: 20 If « and g are different complex numbers with| g =1, then 1’6 —_a is equal to

(a) 0 (b) 1/2 (c) 1 (d) 2

. f-a f-a f-a 1| p-al| 1
Solution (c) ‘ — =‘ —— =‘ = }.:— ——|=—=1 {1443}
1-ap| | p-ap| |pB-a@| A |p-a)| A
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Example: 21

Solution (b)

Example 22

Solution: (b)

Example: 23

For any complex number z, maximum value of | z] 4 z-1| is
(@ o (b) 1 (c) 3/2
We know that | z; —z,| 2 z;| 4 2,

AdHz-1dz-¢-1or |z4z-1<1, .. Maximum value of |z {z-1| is 1.

(d) None of these

If z=x+iy and iz -Z=0, then | z | is equal to
(a) 1 (b) oori (c) 10r2
2’ =722’ 14221444 2 d@zl-D)=0|d=00r|z| =1

[Bihar CEE 1998]
(d) 2

; ; ; 1
For x,,x,,¥,y,€R, if 0<x, <x,,y, =y, and z, =x, +iy,,2, =x, +iy,, and z; =E(z, +2,), then z,,z, and

MATHEMATICS

7, satisfy

[Roorkee 1991]

) |z;19 2214 23 (d) 1z;14 2214 23
0<x, <x,,y, =y, (Given)

2 2
| 2, + 2,1 X +x +
R A e R e e R e e e I e

2 2

© lzi1Mzalx 23l (@ 21142314 25

Solution: (d)

2
X, +X
['Tz] +y7 < 2,1>| z,| . Hence, | z,14 2,14 2,|

2.7 Argument of a Complex Number. .

Let z=a+ibbe any complex number. If this complex number is represented geometrically
by a point P, then the angle made by the line OP with real axis is
known as argument or amplitude of z and is expressed as
b
a

Y oo(++)

arg (z)=9=tan"( } 0 =/POM . Also, argument of a complex

number is not unique, since if ¢ be a value of the argument, so also is
2nm + 60, where nel.

(1) Principal value of arg (z) : The value # of the argument, which satisfies the inequality
-n<0@<r is called the principal value of argument. Principal values of argument z will be
0,7-0,-n+60 and -6 according as the point z lies in the 1%, 2™ | 3" and 4" quadrants

respectively, where 6 = tan™ L a (acute angle). Principal value of ¢
a r-0 [
argument of any complex number lies between -7 <6<7. e s
=) |9 &)
(i) a,be First quadrant a>0,b>0. arg (z)=6=tan™ [Q] It is ot Lo ~@
a
Y’

an acute angle and positive.

\'
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(ii) (a,b)e Second quadrant, a<0,b>0, arg (z)=@=7z—tan™ [iJ It is an obtuse angle and

| al
positive. (ab) 1y
X a 0 X
y|

(iii) (a,b)e Third quadrant a<0,b<0, arg (z)=@=-r+tan"" (2] It is an obtuse angle and

a
negative.
ty
x' a_jo X
o| A4
b |,
(a, b) y
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negative.
| y
Xx'<€ om >X
b
y' (a, b)
Quadrant x y arg(z) Interval of 8
I + + 0 0<0<m/2
I = + T—-6 m/2<0<nx
I = = ~(7-6) -r<0<-1/2
A o b -9 -7/2<6<0
|/th - U Argument of the complex number 0 is not defined.

O Principal value of argument of a purely real number is 0O if the real number is
positive and is r if the real number is negative.

U Principal value of argument of a purely imaginary number is z/2 if the
imaginary part is positive and is -z /2 if the imaginary part is negative.
(2) Properties of arguments
(i) arg (z,z,) = arg(z,)+arg(z,)+2kn, (k=0 or1or-1)

In general arg(z,2,25..ee... z2)=arg(z,)+arg(z,) +arg(z3) +.......... +arg(z,)+2kn, k=0or 1or —-1)
(ii) arg(z,z,)=arg(z,)—arg(z,) (iii) arg(z—'] =argz, —argz, + 2k, (k=0 or 1
22
or-1)
(iv) arg(é] =2argz+2kn, (k=0o0r1or -1) (V) argz")=nargz +2kn, (k=0 or10or - 1)
z
(vi) If arg[z—zJ =6, then arg(z—’] =2kr -0 , where kel
Z, Z,
(vii) argz =-argz= argl (viii) arg(z-2)=%n/2
Z
(ix) arg(-2)=arg()t 7 (x) arg(z2)+arg(z)=0 or arg(z)=-arg(z)

(xi) arg(z)-arg@) =47
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(xii) z,7, + 2,2, =2] 74| | z,| cos(f, - 6,), where 6, = arg(z,) and 8, = arg(z,)

@: Q Proper value of k must be chosen so that R.H.S. of (i), (ii), (iii) and (iv) lies in

7, 7)

O The property of argument is same as the property of logarithm.
If arg (z) lies between —r and 7z (7 inclusive), then this value itself is the principal
value of arg (z). If not, see whether arg (z) >n or <-x. If arg(z)>7, g0 on
subtracting 2z until it lies between -z and #z(r inclusive). The value thus
obtained will be the principal value of arg (z).

U The general value of arg(z) is 2nzr —ag(2).

Important Tips
=  Ifz=7, ©|z|=| 2| andarg z,=arg z.
L |z, +2; ]=| 7|+l 2,| < arg (z))= arg (z,) ie., z: and z. are parallel.
@ |z1+2|=|zl +l 25| © arg (z)- arg (z,)=2nxz, where n is some integer.
@ | 2y =251 =11 2| =l 251l <> arglz,)-argz,)=2nx, where n is some integer.
* |z +2,|=]z —2|e arg @)-arg @) =x/2.
= If |z,|<1) z,|<1then (i) |z +z3|2 < (| 2|~ z2|)2+(arg (z)- arg (z)) (i) |z +Zz|22 [|21|+|22|F—

(arg@)-arg@,))
2 2 2
= |Zl+7..z| :|Z|| +|Zz| +2] 211l z2] cos(6; - 6).
= |-z =|af +|wf -2 411 2,1 cos(6, - 0).
< If|z,1d z,| and amp (z,)+amp (z,)=0, then z, +z, are conjugate complex numbers of each other.
r 2#0, amp (z+2)=0 or mamp(zz)=0;amp(z-2)=+n/2.
- arg(1)=0, arg (-1)=m; arg()=n/2, arg(-)=—-x/2.

o arg(z)= % =Re(z) = Im(2).

o Amplitude of complex number in I and II quadrant is always positive and in I and IV** quadrant is always
negative.

@ If a complex number multiplied by i (Iota) its amplitude will be increased by n/2 and will be decreased by 7 /2,
if multiplied by i, i.e. argliz) = %+arg(z) and arg(-iz) = arg(z) - %

Complex number Value of argument
+ve Re (2) 0
-ve Re (z) /4
+ve Im () /2
-ve Im (2) 3m/20r-m/2
- (2) |@ x|, if @ is —ve and + ve respectively
(i) {1 + arg(z)}

2

-(iz) {arg(z)_ %}
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") n. arqg (z)
(z,.25) arg (z) + arg (z2)
z, arg (z1) - arg (z2)
2
Example: 24 Amplitude of [F] is [Rajasthan PET
+i
1996]
- T T T
- b) — = d =
(a) 2 (b) 2 () y (d) 5
. 1-i 1-i 5
Solution: (a) z=—x— =-i

1+i 1-i

=60 =tan [_FIJ = —% (Since z lies on negative imaginary axis)

Example: 25 If |z, |=|:, |and ampz, +amp z, =0, then [mMP PET
1999]

(@) z, =2, ) z,=2, (c) z,+2,=0 (d) z, =2,
Solution: (b) Let |z, |=0P,| z,|=0Q .5 p

Since amp (z;)= 6 = amp (z,)= -6

I
I
1
I
I
Q is point image of P o 9—9 : ¥
-_ I
2 =2, :
1
Trick : argz+argz =0, ..z, must be equalto z,. B 0
Example: 26 Let z, w be complex numbers such that 7 +av =0 and arg zw =z, then arg z equals
[AIEEE 2004]
(a) 5z/4 (b) n/2 (c) 3r/4 (d) n/4
Solution: (d) z+iw=0
Lz=iw =20+@/2+0)=xm, . 0=7/4.
Example: 27 The amplitude of sin % + i(] - cos %] [Karnataka CET 2003]
(@) n/5 (b) 27/5 (c) =/10 (d) #/15
Solution: (c) sin%ﬂ’(l - cos %}: 2sin%.ms %nz sin’ %: 2sin%[ms%+isin%)
. T
smn— T -
For amplitude, tanf = — =tan— =0 =—.
10 10
Cos§ —
10
Example: 28 If |z|=4 and arg z =5?z. then z = [MP  PET
1987]
(a) 23 -2i (b) 243 +2i (©) -2/3+2i (d) -3 +i

Solution: [c] |z|=4 and arg z:%:lSD“ :
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Let z = x +iy, then |z|=r=1}x2+y2 =4 and 9=-53{=150°

< x=rcos §=4 cos150°=-23 and y=rsin0=4sin150°=4-%=2.

z=.t+iy=—2\/§+2i.
Trick: Since arg z= 5%: 150°, here the complex number must lie in second quadrant, so (a) and (b)
rejected. Also |z|= 4, which satisfies (c) only.

Example: 29 If z and # are to non-zero complex numbers such that | zw|=1 and arg (2) - arg ()= % then Ze is

equal to
[AIEEE 2003]
(a) 1 (b) -1 ()i (d) -i
Solution: (d) |zl @|=1 e (i) and arg[i]=1 >Zzis FH=1 ... (ii)
[0} 2 [] [0]
From equation (i) and (ii),
| z14 w|=1and i-|~é=0; @+i0=0 = Io= -0 =00 > o =-i o|*=-i
0 @ @

2.8 Square Root of a Complex Number

Let a+ib be a complex number such that Va+ib =x+iy, where x and y are real numbers.
Then

Va+ib=x+iy = a+ib=(x+iy)> = a+ib=x>-y?)+2ixy

>x*-y'=a ... ()
and 2y=b .. (i) [On equating real and imaginary parts]
[2 2. .) T
Solving, x =+ # and y=+ {\la +2b -a]
/

2

N i {\!a2+b2+a\_i[da2+b2 —aJ

Therefore va+ib = iN z| +a +EJ zlz—a} for b>0 =1N z| +a —i\ﬁ Z';“}for b<o.

2 2
l/_VaZd : 0 To find the square root of a-ib, replace i by - i in the above results.
O The square root of i is i(%} [Here b = 1]

-1

U The square root of - iis + , [Hereb = -1
: (), e =
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Alternative method for finding the square root

(i) If the imaginary part is not even then multiply and divide the given complex number by

2. e.g. z = 8 - 15i here imaginary part is not even so write z = % (16 - 30i) and let a+ib= 16 -

301i.
(ii) Now divide the numerical value of imaginary part of a+ibby 2 and let quotient be P

and find all possible two factors of the number P thus obtained and take that pair in which
difference of squares of the numbers is equal to the real part of a+ib e.g., here numerical value

of Im(16 - 30i) is 30. Now 30 = 2x15. All possible way to express 15 as a product of two are
1x15 , 3x5 etc. here 52 —32 = 16 = Re (16- 30i) so we will take 5, 3.

(iii) Take i with the smaller or the greater factor according as the real part of a + ib is
positive or negative and if real part is zero then take equal factors of P and associate i with any

one of them e.qg., Re(16 - 30i) > 0, we will take i with 3. Now complete the square and write
down the square root of z.

e.g., z=%[16 -30:']:%[52 +(3i)° -2x5x3i]=%[5 -3i]? :J_=¢L2(s - 3i)

Example: 30 The square root of 3 -4i are

(a) +2-i) (b) +(2+3) (©) +(f3-2) (d) +(/3+2)

Solution: (a) |z|=5.- J3-4i =:t[,’5—;3--:’1#%] =+ (2-10)

Example: 31 JZ equals [Roorkee 1989]
(a) 1+i (b) 1-i () —2i (d) None of these

Solution: (a) z=2i=a+bi=>a=0b=2]z|=2

L ,2+0 .’2—0 _
..Jz—i[ > +i — J +1 +1i)

Trick: It is always better to square the options rather than finding the square root.

'2.9 Representation of Complex Number |

A complex number can be represented in the following from:

(1) Geometrical representation (Cartesian representation): The complex number z =a+ib=(a,b)

is represented by a point P whose coordinates are referred to Imaginary
rectangular axes XOX' and YOY' which are called real and P‘:a’ -
imaginary axis respectively. Thus a complex number 2z is | 21 = a? + 5 / Eb o
represented by a point in a plane, and corresponding to every point ol am axis
in this plane there exists a complex number such a plane is called \

argand plane or argand diagram or complex plane or gaussian e o

(s www.acpstudycirclc.comn AEPSTUDY CIRCLE




A: P T-NEET CRsE THEORY m
STUDY CIRCLE

ACCENTS EDUCATIONAL PROMOTERS MATH EMAT'CS

00 MPbhmmns

plane.

|/Va?2 : O Distance of any complex number from the origin is called the modules of complex
number and is denoted by |z|, i.e., | z| =Va® +b*
U Angle of any complex number with positive direction of x- axis is called

amplitude or argument of z. i.e., amp (z)=arg(z)= tan 1 [%J

(2) Trigonometrical (Polar) representation : In A OPM, let OP =r, then a=rcos@ and b =rsind.

Hence z can be expressed as z = r{cos & +isin 8)
where r = |z| and &= principal value of argument of z.

For general values of the argument z = r[cos(2mr+9)+i sin(2nx +6)]

Eaz’t : 0 Sometimes (cos@+isin@) is written in short as cisé .
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(3) Vector representation : If P is the point (a, b) on the argand plane corresponding to the
complex number z=a+ib.

Then OP =ai +bj, .. | OP|=a’+b> 4 z| and arg z = direction of the vector OP = tan"(éj
a

Therefore, complex number z can also be represented by OP.

(4) Eulerian representation (Exponential form) : Since we have ¢ = cos@+isin@ and thus z can

be expressed as z=re”, where|z|=r and 6 = arg (2)

hﬂi’z : 0 e’ = (cos @ —isin 6)

Qe +e™=2cos8,e” - =2isin@

Example: 32 (;"'—.’;; = [Roorkee 1998]
-1

(a) J_[ms—-l-:sm—) (b) J_[COS—'PISIDI] (c) [cos::—xﬂsm%J (d) None of these

1+7i _ (A+7)(B+4) _—-25+25i

= = ==1+i
-9 @-4)(3+4D) 25

Solution: (a)

Let z=x+iy=-1+i, . x=rcosf=-1 and y=rsinéd=1

1+7i 3
6:3—}r and r—\E, Thus ha :2 =\Elicoe;3—+rsm—ﬁr
4 2-9 4 4

Alternative method: - -|-[1*7!_ /> ang arg [ 2T a7 - tal]_l[i —tan 74t 2237
2-0| 13-4i -4i 3 3 4
Y, 1+7i —\/_[cos—+ism3—x]
@-i’ 4
Example: 33 If -1+ V=3 =re” then @is equal to [Rajasthan PET 1989; MP PMT
1999]
b T 2z 2r
a) — b) -— c) — d -—
(a) 3 (b) 3 © 3 (d) 3

Solution: (¢) Here—1+v=3 =re® = —1+iV3 =re® = rcos@+irsind

Equating real and imaginary part, we get rcos@ =-1 and rsiné = NE)

Hence tan6=-J§ = tanﬂ-tan%:: 9-2?”.
Example: 34 Real part of e is [Rajasthan PET 1995]
(a) e“*%[cos(sin )] (b) e“*?[cos(cos )] (c) e™[sin(cos 6)] (d) e™[sin(sin)]

Solution: (a) e"‘ = pleosOising) _ ,cos6 isinG _ o8 ons(isin6) + i sin(sin 8))

id
~. Real part of ¢ is e“*“[cos(sin §)].
Example: 35 If l+x =2cos 8, then x" + 1—_ is equal to [UPSEAT 2001]
X

X

(a) 2cosnd (b) 2sinn@ (c) cosné (d) sinn@
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Solution: (a) Let x=cos@+isinf=¢" then x"+x1—l= in8 o =™ + ™ =cosn@ +isinn + cosn@ —isinn® = 2cosné.

[ i er .
Let z=x+iy and
log,x+iy)=a+b L. (i)
x+iy=rcos@+ismn@=re” .. (ii)

then x =rcosf,y=rsin@, clearly r=x>+y*> and 9= tan"[ll
x

From equation (ii), log(x +iy) =log,(re’) =log r+log, e” =log, r+i0 =log, J(x? +y?) + itan'l[

llog, x)=log, | z| +iamp z|

Obviously, the general value is Log(z)=log,(2)+2mi (-7 <amp(z)<
Example: 36 ' is equal to
(a) e™? (b) e*"? (c) -z/2

Solution: (b)
log A =0 +in/2]=-n/2 = A=e "%,

Example: 37 ilog[i—:::] is equal to

1 1

(b) 7-2tan'x

(a) 7+2tan”' x (c) -7+2tan”' x
-1 o = 2- = .
Solution: (v Let 2= og{ 1| £ <tog{ 1] = £ -2 o1]. .og[%z“]
x+i i x+i i X+i x-=1i x“+1
2
F4 x“=-1 . 2x .
= —=lo -i———| e i
i gl:xz-i-l x2+l:| M

. log(a+:b)=log(re"’)=log,-+;g =l°g1fa2+b2 +itan"[£]
a

J () v (52)

2+l 2.1
+ilan_1(l 212] =logl+i2tan” x)=0+i(tan”" x)

X

z 21
Hence ?=log [

x2+1

(By equation (i))

Z

o dxt 1207 44x”

i x*+1)7° -x

oz=i2tn ' x=2tan x =7-2tan' x.

'2.11 Geometry of Complex Numbers

Let A=i then logA=logi' =ilogi = log A =ilog(0+i) = logA =ilogl +ir/2]

Y

]
7)

[EAMCET 1995]
(d) None of these

(-M=1and arg()=x/2)

[Rajasthan PET 2000]

(d) -z-2tan"" x

(1) Geometrical representation of algebraic operations on complex numbers

(i) Sum: Let the complex numbers z, =x,+iy, =(x,,y;)

and z, = x; +iy;, =(x3,¥;)

be

represented by the points P and Q on the argand plane.
Then sum of z, and z, i.e., z, +z,is represented by the point R.

Complex number z can be represented by OR.

=(x; + X))+ iy +y2) = +iy) +(x; +iyy) = (7 +22) = (x1, 1)+ (x3,¥,)

Y
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In vector notation, we have z, +z, =0P +00 =OP + PR=0OR

(ii) Difference : We first represent -z, by Q', so that QQ' is bisected at O.

The point R represents the difference z, - z,. vt QY
In parallelogram ORPQ, OR = QP (x4
X

We have in vectorial notation z, -z, = OP — 00 = OP + 00 0

—_— — @ —s @ —

=0OP+PR=0R= QP - Q'(—Xa,-

R(X:-Xz, Y1-Y2)

(iii) Product : Let z, =r,(cosf, +ising,)=re™

o |z|=r, and arg (z,)=6, and z, =r,(cos, +isinb,)=r,e™
~|zy/=r,and arg (z,) =6,

Then, z,z, =nr,(cosf, +isind,)(cosd, +isinb,)

= nr,{cos(8, +8,)+isin(8, +6,)}

| z,2,|=nr, and arg (z;z,)=6, +6,

R is the point representing product of complex numbers z, and z,.

Important Tips

& Multiplication of i : Since z=r(cos@+isinf)and i= (cos %+ isin %] then iz = [ms[% + 6] + isin[% + 9]:|

Hence, multiplication of z with i then vector for z rotates a right angle in the positive sense.
L.e., To multiply a vector by -1 is to turn it through two right angles.
i.e., To multiply a vector by (cos 8 +isin®) is to turn it through the angle 8 in the positive sense.

(iv) Division : Let z, =r(cos, +isiné,) =r,e™

~lz/|=r and arg (z,) =6,
and z, =n(cos B, +isin G,) = rze"l‘g"2

~|z,|=r, and arg (z,)=6,

2 _ 1 (cosé, +ising,)

(z,20,r,20)
Z, r,(cosd,+isind,) : z

Then

_— L = i [005(91 - 92) + IS]I1(91 - 92 )]
L, n

L W Iy
_rzvmg[zz] 01 92

@aﬂ : 0 The vertical angle R is - (@, - 4,) i.e., 6, -6,.
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O If ¢, and @, are the principal values of z, and z, then 6, +6, and 6, -, are not

necessarily the principal value of arg (z,z,) and arg (z,/z,).

ry. ‘

(1) Distance formula : The distance between two points P(z,) and 0(z,)is given by
PQ = z, -z,| = |affix of Q - affix of P|

Q(z2)

P(z,)

I/Vi: a The distance of point z from origin | z-0|= z|= z-(+i0)| . Thus, modulus of
a complex number z represented by a point in the argand plane is its distance from
the origin.

U Three points A(z,),B(z,) and C(z;) are collinear then AB+BC = AC
Le,|z,—2z,| +| z, - 7514 z; — 251 -
(2) Section formula : If R(z) divides the joining of P(z;) and Q(,) in the ratio

my :m,m,,m, >0)

(1) If R(z) divides the segment PQ internally in the ratio of m, : m, then z = w
m; +m,
(ii) If R(z) divides the segment PQ externally in the ratio of m Q(z2)
my
m,Z, —MmM,Z
then ; =—-2 2L . A
m, —m, o Rx) me T R(z)

'P(z,) /
Woe : 0 1£ R(z) is the mid point of PQ then affix of R is ;Z

U If z,,z,,z; are affixes of the vertices of a triangle, then affix of its centroid is

2, +2, + 24
—
(3) Equation of the perpendicular bisector : If P(z,) and O(z,)are two fixed points and R(z) is

moving point such that it is always at equal distance from P(z,) and
i.e, PR=QR or|z-z,|= z-2,|

2 2
= z-z7=l z2-2,|

= (2-2)@-2)=(2 - 2,)@ - 2,)

= @-z)@-7)=@-2)@-7,)

= = = = = - = = 2 =2
272U, -2,)+2z, - 2,)=2,2, — 2,2, =2 U, -2)+2(z, -2,)3 7| T -l 7,
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Hence, z lies on the perpendicular bisector of z,and z,.

(4) Equation of a straight line

(i) Parametric form : Equation of a straight line joining the point having affixes z, and z,
is z=1tz,+(1-1)z,, when r€ R

(ii) Non parametric form : Equation of a straight line joining the points having affixes z,

z z 1
and z, is |z; z; 1|=0 = 2z, -2,)-2(z, - 2,)+ 2,2, - 2,7, = 0.
2y Zz 1
Z) E| 1
[/_Vaﬂ : @ Three points z,,z, and z; are collinear |z, z, 1/=0

z; z3 1
(iii) General equation of a straight line: The general equation of a straight line is of the
formaz +az +b =0, where a is complex number and b is real number.
— = . ff.of 7
(iv) Slope of a line : The complex slope of the line az+az+b=0 is —g =-%% and
a coeff. of z
Re(a) _ _l_(a +a)
Iml@ (a-a)
|/V022 :Q If @, and a, are the are the complex slopes of two lines on the argand
plane, then

(i) If lines are perpendicular then e, +a, =0 (ii) If lines are parallel then ¢, =a,

real slope of the line az+az+b=0 is —

Q If lines az +az+b=0 and a,z+a,z+b, =0 are the perpendicular or parallel, then
{_—a]+ __i =0 or _—_‘I=__i = aa,+a,a=0 or aa,-aa, =0, where a,a,are the
a a, a a,
complex numbers and b,b, € R.

(v) Slope of the line segment joining two points : If A(z,) and B(z,) represent two points
in the argand plane then the complex slope of AB is defined by
LTt
2 =2, .

B(z,)

Wete : Q If three points A(z,),B(z,),C(z;) are collinear then
slope of AB = slope of BC = slope of AC

Zl _22 _Zz _Z3 _ Z] _Zg

A(z,)

2, =2, B =23 472
(vi) Length of perpendicular : The length of perpendicular from a point z; to the line
| az, +aZ,_+b| o | az, +az, +b|
| a| +| a| 2| a|

az+az+b =0 is given by

(5) Equation of a circle : The equation of a circle whose centre is at point having affix z, and
radiusris| z—-z, |=r
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|/Vole : A If the centre of the circle is at origin and radius r, then
its equationis | z|=r.

P(z)

U] z-z,| <r represents interior of a circle | z-z,|=r and
| z—zo|>r represent exterior of the circle | z-z,|=r. ‘
Similarly, | z-z,[>ris the set of all points lying outside | - ‘
the circle and | z-z,|>r is the set of all points lying outside and on the circle

| z=2gl=1.
(i) General equation of a circle : The general equation of the circle is zz+az+az+b=0
where a is complex number and b € R.

.. Centre and radius are - a and 4| a|> -b respectively.

Ao : Q Rule to find the centre and radius of a circle whose equation is given:

e Make the coefficient of zz equal to 1 and right hand side equal to zero.
¢ The centre of circle will be = - a = —coefficent of Z

¢ Radius =J a|?* — constant term

(ii) Equation of circle through three non-collinear points : Let A(z,),B(z,),C(z;) are three

points on the circle and P(z) be any point on the circle, then ZACB =.<APR

Using coni method P(f)

it . C(z;
InAAc, 22=% BC o @)
Z| —Z3 CA
_ Az \ B(z
maaps, 22-2_B2 . (ii)
Zl & AP
From (i) and (ii) we get
E-2)2-2%) _Reat = .. (i)

(2-2,)(@z, - 23)
(iii) Equation of circle in diametric form : If end points of diameter represented by A(z,)
and B(z,) and P(z) be any point on circle then, (z-z,)z-2,)+(z-2,)z-2,)=0
which is required equation of circle in diametric form.
(iv) Other forms of circle : (a) Equation of all circle which are orthogonal to | z-z,|=1
and | z-z,|=r,. Letthecircle be| z -«a| = r cut given circles orthogonally
s>+ da-z1? 00 e (i) and P+ da-z,1> ... (ii)

on solving r; - = a(z; —2,)+ @z, - z,)+| z,|* -| z,|* and let a =a+ib
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Z_ZI
Z_ZZ

=kisacircleif k#1 and alineif k = 1.

(b)

2 . . ) 1
(c) The equation | z—z, | +| z—z,|?=k, will represent a circle if k > E' 7 -2,

(6) Equation of parabola : Now for parabola SP = PM

| z+7+2a Pz

| z—al| B — My //

_ 1 AN S(a+io)
or zz—4a(z+z)=5{z2+(z_:)2} &

(7) Equation of ellipse : For ellipse SP +5'P =2a Pz

Z)|Z-Z;|+|Z—ZZ\=2£I m
where 2a 3 z, - z,| (since eccentricity <1)

Then point z describes an ellipse having foci at z; and z;, and ae

=0
2

Z4TH+2a8

where ae R (focus)

Directrixis z+z+2a=0

(8) Equation of hyperbola : For hyperbola SP -S5'P =2a

>lz-z|-lz2-2,|=2a P(z

where 2a< z; -z,| (since eccentricity >1)

Then point z describes a hyperbola having foci at z; and z, and a

Example: 38 If in the adjoining diagram, A and B represent complex number z, and z, respectively, then C

represents

(a) z;+2,
(b) z,-2,
(©) 212,

(d) z,/2, A

Solution: (a) It isa fundamental concept.

Example: 39 If centre of a regular hexagon is at origin and one of the vertex on argand diagram is 1+2i, then its
perimeter is

[Rajasthan PET 1999; Himachal CET 2002]
(@ 245 (b) 642 (© 445 @ 645

Solution: (d) Let the vertices be z,,z,,...., zyw.r.t.centre Oand | z,| =J5
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Example: 40

Solution: (b)

Example: 41

Solution: (c)

Example: 42

Solution: (b)

2y FZ3 =2, +2-

Example: 43

= AyA =z, -2l dz0€™ —24] o zoll cos@+isind—1] =5 y(cos@—1) +sin’ @

=521 -cos8) =+5.2sin(6/2)

= AyA, =5.2sin(z/6) =5 ( 9=%=§]

Similarly, A, A, = A,A; = A;A, = A, A, = A Ag =5

Hence, the perimeter of regular polygon is

=AgA, +A Ay +ArAy + AsA, + A As + AsAy =645 .

21 —23 _
22—33

The complex numbers z,,z, and z, satisfying are the vertices of a triangle which is

1-if3
2

[IIT Screening2001]

(a) Of area zero (b) Right-angled isosceles  (c) (d)

1
2

Equilateral

3
4

3

2

11 =23 _
213

=1,

Taking mod of both sides of given relation i+

m] tan™' (-J_)--E or amp[

13 =1y

=1

P
]'_ Or /2,232, = 60°
21=23) 3

Sol I Zl ‘23|=| 22 —Zjl X AISO, amp [
*. The triangle has two sides equal and the angle between the equal sides =60°. So it is equilateral,
Let the complex numbers z,z, and z; be the vertices of an equilateral triangle. Let z, be the
circumcentre of the triangle, then z] +2; +z] =

(@) 2 (b) -z (c) 3z (@) -3z
Let r be the circum-radius of the equilateral triangle and @ the cube root of unity.

Let ABC be the equilateral triangle with z,,z, and z, as its
vertices A, B and C respectively with circumcentre 0'(zy). The A'(z, - rlo
vectors 0'A,0'B,0'C are equal and parallel to 0A', 0B, 0C In o }

. — X |
respectively. 3 i
Then the vectors OA'= z, -z, = re” 2n €z i
= 0B=1, -29 = re" " = r ] !
= 0C'= 43— = re'®+4x13) — po)2,i6 A(Z)

L L= +rem,z2 =2 +ra?em, 3= +rwzem
Squaring and adding, we get, 4
7t +23 +23 =320 + 21 + 0 + 07)zre” + (1 + 0% + 0*)re'? =377,
since 1+o+0’> =0=1+0> +0". B(Z,) c(zy)

The points z,,2,,2,,2, in the complex plane are the vertices of a N — I
parallelogram taken in order, if and only if

[1IT 1981,83]
(8) z,+2,=2,+2, (D) z,+z,=2,+24 () z,+z,=2;+2z, (d) None of these

+ +

Diagonals of a parallelogram ABCD are bisected each other at a point ie., Z‘T‘h = % =

If the complex number z,,z, and the origin form an equilateral triangle then z{ +z; =

www.acpstudycircle.comn
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(a) 212, (b) lez (C) 2221 (d) | Z||2=i ZZI2

Solution: (a) Let OA, OB be the sides of an equilateral A OAB and OA, OB represent the complex numbers or vectors
2,,2, respectively.

From the equilateral A OAB, AB = Z,-Z,

arg[zz—zl]—m'g(Zz—Zx) argz, == and afé{ ]-08(22) “'8(21)-—
5 3 4

3~
2

22
2

Also, =1=|—|, since triangle is equilateral.

227% and “2have same modulus and same argument, which implies that the
2y 2

Thus the vectors

29:=% 2y 2 2 2 2
2 L2 o 2-20 =25 D 2 425 =220

2 g

vectors are equal, that is

'2.13 Rotation Theorem

Rotational theorem i.e., angle between two intersecting lines. This is also known as coni
method.

Let z,,z, and z; be the affixes of three points A, B and C respectively taken on argand

plane.
Then we have AC =z;—-2, and AB = Z3 =2 .
A _ C(z3)

and let arg AC =arg (z; -z,)=6 and AB=arg(z,-z,)=¢ B(z,)
Let Z/CAB=a , "~ ZCAB=a=0-¢ A(z)

Yal AR Z3 _Zl ‘ X
=arg AC-argAB = arg(z; -z,)-arg(z, -z,) =arg 0

Z _Zl

or angle between AC and AB = arg (afﬁx of C-affixof A]

affix of B - affix of A

For any complex number z we have z 4 z| ¢"“*

i3 =1
2~

|/Vak :Q Here only principal values of the arguments are considered.

i(arg—:’—:']
-2 132 Z23=Z i AC ;
e -4 or 3 1 =| 3 || et(.éCAB) = e:a

Similarly, [ Z3=% |=
’ -2 | 2,-7l AB

i~

Q arg {z. _ZZJ=0, if AB coincides with CD, then arg (z, _22]=0 or +7z, so that
Zg T 24 Z3 —Z4

Z| - Zz . - Z] —Zz .

——= is real. It follows that if ——= is real, then D

13724 1372 /?/

the points 4, B, C, D are collinear. P o, o

R(z3)
Qif AB is perpendicular to CD, then arg / ’
c Q(z2)
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[ﬂ] =+7/2; so A% jg purely imaginary. It follows that if z,-z,=
23 - Z4 23 _24

+k(z; - z,), where k purely imaginary number, then AB and CD are perpendicular to
each other.

(1) Complex number as a rotating arrow in the argand plane : Let z = {cos @ + isin 0) = re"

r.e” be a complex number representing a point P in the argand Y o
plane. P(2)
ThenOP 5 z|=r and ZPOX =6 X & __.x
Now consider complex number z, = ze i
or z, =re e = re'®+9 {from (i)} i

Clearly the complex number z, represents a point Q in the argand plane, when OQ =r and
ZQ0X =0+¢.

Clearly multiplication of z with e¥ rotates the vector or through angle ¢ in

anticlockwise sense. Similarly multiplication of z with e¢™ will rotate the vector OP in

clockwise sense.

No#e : 0 If z,,z, and z; are the affixes of the points A,B and C such that AC = AB and

—_—

ZCAB =@ . Therefore, AB = 23-2, AC=2z;-2.

C(z3)
Then AC will be obtained by rotating AB through an

angle #in anticlockwise sense, and therefore, B(z2)
6
AC = ABe® or (z;-2))=(z, -7,)e” or 2L =¥ A(z))
2274

Q If A, B and C are three points in argand plane such that AC = AB and ZCAB =6
then use the rotation about A to find e, but if AC # AB use coni method.

U Let z,and z, be two complex numbers represented by point P and Q in the argand
plane such that ZPOQ = 6. Then, z,¢”is a vector of magnitude | z,| = OP along FQ

g i8

r is a unit vector along @ Consequently, | z,| .lz,e| is a vector of
% 2

z,€

and

2y
2

magnitude | z,|= 00 along OQ i.e., z, =|| 22[| .z,e”’ =2, =
2

(2) Condition for four points to be concyclic : If points A,B,C and D are concyclic
ZABD = ZACD

Using rotation theorem
A(z) D(z,)

P A

B(2:) C(z3)
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Inaagp&=D _u"% e %)
o -2 |es-2

In AAcDG =B _%=% o (i)
|Zl ‘7-3] |Z4 ‘13|

From (i) and (ii)

(2= 22) @ =23) _|@&1 = 2@ = 23)|_poy

|21 = 23] |ea =2, —l(zl ~23)(z4 '12)|

So
concyclic.

Example: 44

Solution: (d)

Example: 45

Solution: (c)
Example: 46

Solution: (a)

if z,,z,,z; and z,are such that

(2) —2,)(24 = 25)
(2 - 23)(24 - 25)

is real, then these four points are

If complex numbers z;,z, and z; represent the vertices A, B and C respectively of an isosceles

triangle ABC of which ZC is right angle, then correct statement is
(a) 22 +22+22 =227 (b) @3-z =23-2,

(€) (2 =250 =2, =25)(23 = 25) (d) (2 =2, =2z, = 23)(z3 = 25)

BC=AC and ZC=x/2

A(z,)
By rotation about C in anticlockwise sense CB = CAe"'? '
D (2, -23)=(z; —23)e"'? =iz, - 2;)
D (=2 =2 =230 D 23+23 =222 =-2] =23 +22,2,

2., .2 2 90°

D7y +23 =222 =22123 +22523 =227 = 22,2, B(z:) C(z5)
= (2 —zz)2 =2[(z,25 —z§)-(z,z2 =2,23)]1= (2, -22)2 =22y = 23023 = 25).

In the argand diagram, if O,P and Q represents respectively the origin, the complex numbers z and
z+iz, then the angle Z0PQ is

V4 n n 2r
(a) I (b) ‘; (C) ‘E (d) '3—'

It is a fundamental concept.
The centre of a regular polygon of n sides is located at the point z =0 and one of its vertex z, is

known. If z, be the vertex adjacent to z,, then z, is equal to

(a) z,(cosz—”iisinz—”] (b) z,[cosliisinEJ (c) z,(cosliisinl] (d) None of these
n n n n 2n 2n

Let A be the vertex with affix z,.There are two possibilities of
z,1.e., z,can be obtained by rotating z, through ] either in B(z.) >\
n
clockwise or in anticlockwise direction.
i2x i2r
v Z‘Ile ol =28 : ¢l 2519 24D A(z,) B(z3)
¥4 2
( 2E o 21]
= 7, =7 cos —*isin—
n n
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Example: 47 Let z,,z,,z; be three vertices of an equilateral triangle circumscribing the circle |z|=%_ If

7y =-12—+—‘/-2—Ei and z,,z,,z; are in anticlockwise sense then gz, is
(a) 1+43i (b) 1-43i (€)1 (@ -1
Solution: (d) z,=z,e*"? = l+£:‘ (oos 2—I+:sm£] = l+£i _—]+£:‘ It ML
2 2 3 3 2 2 2 2 4 4

:2.14 Triangle Inequalities_

In any triangle, sum of any two sides is greater than the third side and difference of any
two side is less than the third side. By applying this basic concept to the set of complex numbers
we are having the following results.

(1) | 21 +2,1< 24| +] 25 (2) | zy-221< 7| +] 25

(3) | zy+ 2,12 7| =l 2, @ z,-2,1 2] 7, - 2,

|ﬂ/dt :Q In a complex plane | z, —z,| is the distance between the points z; and z,.
O The equality | z, +z,|= z,| +| z,| holds only when arg (z,) = arg (z,) i.e., z; and z,

are parallel.
U The equality | z, —-z,|=| z,| -| z,/| holds only when arg (z,)- arg (z,)= 7i.e., z,and

z, are antiparallel.
0 In any parallelogram sum of the squares of its sides is equal to the sum of the
squares of its diagonals i.e. | z, + 2, +| z, = 2,1 7= 2( 2, +| z,|%)
O Law of polygon i.e., | z, +z, +....+ 2,/ < z,| +| z,| +...+| z,|
Important Tips

; ; . .. 1]
@ The area of the triangle whose vertices arez, izand z + iz is EI z1%.

@ If 2,,2,,2; be the vertices of a triangle then the area of the triangle is

V3

@ Area of the triangle with vertices z,wz and z+wz is | 2.

2(32_23“ z1|2
4iz, ’

@ If 7,,2,,2; be the vertices of an equilateral triangle and z, be the circumcentre, then z; +2; +2;+= 3z, .
@ If 7,,25,23..2, De the vertices of a reqular polygon of n sides and z, be its centroid, then z; +2; +....+ 2. =nz;.

@« If z,,2,,2,be the vertices of a triangle, then the triangle is equilateral iff (z, —z,)* +(z5 —23)" +(z3—2;)" =0 or

r R WS 1 1 1
2y +25 23 =225 2,23 232, OT + + =0.
21722 12743 1374

@ If 7,,2,2; are the vertices of an isosceles triangle, right angled at z, then z; +z3 +23 = 22,(z; +23).
@« If 7,,2,.2, are the vertices of right-angled isosceles triangle, then (z; -z,)" = 2(z, = 25 )(z; = 2)-

@  If one of the vertices of the triangle is at the origin i.e., 7, =0, then the triangle is equilateral iff z{ +23 - 2,2, =0.
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2 g 1
@«  If 7,,2,,25 and zj,z5,25 are the vertices of a similar triangle, then |z, z; 1|=0.
23 23 1
@ If 7,,2,,2; be the affixes of the vertices A, B, C respectively of a triangle ABC, then its orthocentre is

a(sec A)z, +b(sec B)z, +(csec C)z,4
asec A+bsec B+csecC J

Example: 48 The points 1+3; 5+i and 3+2i in the complex plane are

(a) Vertices of a right angled triangle (b) Collinear
(c) Vertices of an obtuse angled triangle (d) Vertices of an equilateral triangle
xx »n 1 1 3 1
Solution: (b) Let z;=1+3i2z,=5+i and z; =3+2i. Then area of triangle A =-2- X, ¥, 1 =—;-S 1 1{=0, Hence

x; y; 1 321
2,,2, and z; are collinear.

Example: 49 If z=x+iy, then area of the triangle whose vertices are points z, iz and z+iz is
[1IT 1986; MP PET 1997, 2001; DCE 1997; AMU 2000; UPSEAT 2002]

(a) 2|22 (b) %lzlz © | 21 @ %1 21

Solution: (b) Let z=x+iy , z+iz=(x-y)+i(x+y) and iz=-y +ix
If A denotes the area of the triangle formed by z,z +iz and iz, then

x y 1
A= % x-y x+y 1 (Applying transformation R, >R, - R, - R;)

-y x 1

1 X 2 1 1
Weget A=—| 0 0 -1 =E(x2+y2)=5|zlz.
-y x 0
Example: 50 |z, +2,|9 z,| +| z,| is possible if [MP PET 1999]
i 1

(a) z,=2 (b) z,=— (©) arg(z)=argz,) (d) |zl =l 25l

%
Solution: (¢) Squaring both sides, we get
| 217 +1 2217 421 21l 231 c08(6, =65) 4 7,17 +] 2,1* 421 || 2,1
= 2 7|l 2] c0s(6,-60,)=2| 7|l z,] = cos(@, -0,)=1 = 6,-6,=0°> 6, =6,
Hence arg (z)) = arg (z,)

Trick: Let z; and z: are the two sides of a triangle. By applying triangle inequality (z, +z,) is the third
side. Equality holds only when ¢, =6, i.e., z,and z, are parallel.

'2.15 Standard Loci in the Argand Plane |
(1) If z is a variable point in the argand plane such that arg (z)=80, then locus of z is a
straight line (excluding origin) through the origin inclined at an angle # with x-axis.

(2) If z is a variable point and z, is a fixed point in the argand plane such that arg
(z-z,)=46, then locus of z is a straight line passing through the point representing z, and
inclined at an angle # with x-axis. Note that the point z, is excluded from the locus.
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(3) If z is a variable point and z,,z, are two fixed points in the argand plane, then

@3 | =713 7-2,|
the line

=

(ii)| z-z,| +| z—z,| = constant (#i Z; —zzl)

(i) | z-z| +| =253 7, — 24|
7, and z,

(iv) [ 2=z, =l 2= 2|3 23 — 23|
but z

(v) | z=z,| =| z—2z,| = constant (# z) —zzll

= 2 2
(Vi) [ z=2,|" +| 2=2,]°4 2, = 2, |

(vii) | z=z,|=k| z2=2,| k#1

-2

]=a (fixed)
=4y

(viii) arg [

(ix) arg[z-z'] =+7/2

vertices of

(x) arg [EJ =oornz
=0

andz,.

(xi) The equation of the line joining complex numbers z, and z, is given by =

2
or |z,

KSLGTR
—_
"
]

4

Example: 51 The locus of the points z which satisfy the condition arg (—] =2 s

(a) A straight line

Solution:(c) We have z

(b) A circle

U

-1 _x+iy-1_(7+y" -1)+2iy

z+1 x+ivy+1

-1 - 2
Sarg *—=tm" 5 };
z+1 x+y -1

Hence I:an"#:£
x“+y -1 3

www‘aepsludycircle.comn

(x+1)7 +y?

Locus of z is the perpendicular bisector of

segment joining z, and z,
= Locus of z is an ellipse

=1 Locus of z is the line segment joining

Locus of z is a straight line joining z, and z,

does not lie between z;, and z,.
Locus of z is a hyperbola.
Locus of z is a circle with z, and z, as the

extremities of diameter.
Locus of z is a circle.

Locus of z is a segment of circle.

Locus of z is a circle with z, and z, as the

diameter.

Locus z is a straight line passing through z,

Z_Z] E_Zl

i~ EZ_EI

z-1
[Rajasthan PET 2000,2002; MP PET 20

z+1) 3

(c) A parabola (d) None of these
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2y T 2 2 2 2 2 2 - . :

5 2 —tanl=y3 = x2+y’-1=——y>x2+y -2 y-1=0, which is obviously a circle.

2 +y2 ) 3 y \E)’ y ng » y

Example: 52 If ‘zz —1|=| z|? +1, then z lies on [AIEEE 2004]
(a) An ellipse (b) The imaginary axis (c) A circle (d) The real axis

Solution: (b) |z2-1]4 z]* +1

= z=1] z+1PP=(Z+1)? = @-DE-DE+DE+D)=(EZ+1)’=2+2=0

. z lies on imaginary axis.

Example: 53 The locus of the point z satisfying arg (Z—::] = k. (Where k is non-zero) is
Z

(a) Circle with centre on y-axis (b) Circle with centre on x-axis
(b) A straight line parallel to x-axis (d) A straight line making an angle 60° with x-axis
Solution: (a) arg[ﬂ} k = ar M:Iﬁc = argd(x-D+iy]-argl(x+ D)+l =k
7+1 (x+1)+iy
2 Y
T T B L B S 1) MRy [C ) LG ) O
x-1 x+1 y? x4y’ -1 x+y -1
14— "
x —

= 2—J"=);2-l-y2—l = x+y’- 2y -1=0
tan k tan k

It is an equation of circle whose centre is (-g,- f)=(0,cot ) on y-axis.
Example: 54 The locus of z satisfying the inequality log, ;| z+1| >log,,s| z-1] is
(a) Riz)<0 (b) R(x)>0 (c) I»)<0 (d) None of these
Solution: (a) log, 5| z+1|>log,,s| z-1|
Sz41) < z-1] = P +1+2x+y" <x’+1-2x+y” = x <0 = Re()<0.
Example: 55 If a+ifi= tan'(2), 2 =x+iy and a is constant, the locus of 'z' is [EAMCET 1995; KCET 1996]
(a) x? +y2+2100l2a=l (b) cot 2a(x? +y2)=l+x (c) 12+y2+2y tan2a=1 (d) x’ +y2+21 sin2a =1
Solution: (a) tan(e+if)=x+iy
. tan(a-if)=x-iy (conjugate), a is a constant and g is known to be eliminated
— X+iy+x =iy

tan 2a = tan(a +if +a -iff) = tan2a =

- 2):]-(1’24-)?2):2):00!:2&
-(X +y

x2+y2+2100t2a=1.

rz—:lﬁD ' _E'i"'n' ﬂ oivre i's_Ih' eore m1

(1) If » is any rational number, then (cos @ +isin )" =cosnf+isinné.

(2) If z=(cosé, +isin#,)(cos@, +isinf,)(cosf; +isinf,)....(cosd, +isinf,)

then z=cos(@, +0,+6; +....+8,)+isin(, + 0, +0; +....+6,), where 6,,6,,0,...6, € R.

n n

(3) If z=r(cos@+isin@) and n is a positive integer, then 7'/" = r”"|:cos(2kﬂ+9]+isin[2’m+9]:|,
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where k =0,1,2,3,....(n-1).

(4) If p,gez and g =0, then (cos@ +isin )"’ =cos[

where k=0,1,2,3....(g - 1).

Deductions: If neQ, then

(i) (cos@—-isin@)" = cosn@—-isinnd

(iii) (cos@-isinO)™ =cosn@+isinnf

Applications

(i) In finding the expansions of trigonometric functions i.e. cosn@ =cos" -"C, cos"* @sin* 6

+'C, cos"* @sin* 9-......

sinn@="C, cos"”" @sin@-"C; cos"> @sin® @ +"C, cos"” @sin” G- .......

(ii) (cos@+isin@)™" =cosn@—isnnd

(iv) (sin & +icos )" =cosn(%-0)+isinn(%- J

(ii) In finding the roots of complex numbers.

(iii) In finding the complex solution of algebraic equations.

|/Vak :Q This theorem is not valid when n is not a rational number or the complex

number is not in the form of cos@ +isin 6.

Powers of complex numbers : Let z = x +iy =r(cos@ +isin )

S 2t =r"(cos@+isin@)" =r"(cosn@+isinnf)

2kz+ p@
q

}+ism(2k7z+p0],
q

Number x + iy form Standard complex General
form
1 1410 cos0+isin0 cos 2nxr +isin2nmw
-1 - 1+i0 cos 7 +isinz cos(2n + )r +isin(2n + 7
! 0 31(1) cos£+isin£ cos(@n+ l)£+isin(4n+l)£
2 2 2 2
-1i 0 +i(-1
CL cosf—isin£ cos(4n+l)£—isin(4n+l)£
2 2 2 2

.\ 100
Example: 56 If (F] =a+ib, then
+i

(a)a=2,b=-1 (b)a=1,b=0
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Solution: (b) P F i cos(— %] + isit{— %] = (=)' = cos(=507)+isin(=5071) = 1+i(0) =a=1, b=0
+1 -1

Example: 57 If x -cos[; J + ISII{;J then x. x, x5 oo is

[Rajasthan PET 1990, 2000; Karnataka CET 2000; UPSEAT 1990; Haryana CEE 1998; BIT Ranchi 1996]

(a) -3 (b) -2 (c) -1 (do
Solution: (¢)  x,.x,.x,.... upto w:(cos%ﬁsin%] (cos%ﬁsin%) ....................
T T
T (= 2 .| 2 -
= CO0s _+_Z+‘" + 1510 —-l-—:'l-.‘.. = 0S| —=— |+ isin| —=— | = cos w+isinmr=~-1
2 2 2 2 ]_l 1_1
2 2
Example: 58 If z, =cos —fﬂsm ,where r=123,..,n then lim zz,z,....2, is equal to [UPSEAT 2001]
n n n—x
(a) cosa-+isina (b) cos(@/2)-isin@/2) () e’ @ Ve

. ra .. ra a .. a
Solution: (c) ¢z, = cos —+isin— = z, = cos — +isin—;
n n n n

o 2a
2y = €08 — +iSI— fuiiiiiiiiinannn
ﬂ n

oz, —ODSH—-!-ISIIZI% = hm(z,,:z2 235-Zp) = ﬂ[ms —(+2+3+.... +n)}+:sm{ A+2+3+.... +n)}:|
n n n’

a .. a
=cos —+isin—= ™2,
2 2

= lim| cos
2 3
2n 2n

H—pon

[ ann+l) .. ann+l)

Example: 59

{l +5sind +icos 9] [Kerala (Engg.) 2002]

1+sin@—icos &

(a) oos{——m?]ﬂs [——ﬂﬂ] (b) cos[%+n9)+isin(%+n8]
(©) sm[—-n&]-l-t [—-ne] (d) cosn{%+n9]+isinn[%+n9]

1+cos @ +isina )"
1+cosa-isina

1+sind+icos8)"
1+sin@-icosé

Solution: (a) { (where a= %- 0]

n n . a
2c0s? % +2isin L cos cos L +isin % “'-‘{_]
2 2 2 2 2

n
= = = 2) | - {n‘s(g +5J} =cis(na)
Zons’%—ﬂsin%.cos% cos%—isin% cig(—%] 2 2

= ckn(£—8)= cis(E-e] =ms[ﬂ-na]+ssin(ﬂ-n ]
2 2 2 2

2.17 Roots of a Complex Number

(1) n™ roots of complex number (z') : Let z=r(cos+isind) be a complex number. To find the

roots of a complex number, first we express it in polar form with the general value of its
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amplitude and use the De' moivre's theorem. By using De'moivre's theorem n' roots having n
distinct values of such a complex number are given by

M = r”"|:cos 2ma+60 +isin 2m7r+6'}where m=0.12,...01-1).
n n

Properties of the roots of z/":

2xiln

(i) All roots of z'/" are in geometrical progression with common ratio e

(ii) Sum of all roots of z'/"is always equal to zero.

(iii) Product of all roots of z'" =(-1)""'z.

1/n 1/n

(iv) Modulus of all roots of z//"are equal and each equal to r'"or | z|'"" .

(v) Amplitude of all the roots of z/" are in A.P. with common difference 2z
n
(vi) All roots of z'/"lies on the circumference of a circle whose centre is origin and radius

equal to | z|'"

. Also these roots divides the circle into n equal parts and forms a polygon of n
sides.
(2) The n™ roots of unity : The n™ roots of unity are given by the solution set of the equation
x" =1=cos0+isin0 = cos 2k 7 +isin 2kx

x =[cos 2k +isin 2kx]""

x=cos K7 4 isin 2T where k=0.1.2.......1=1).
n n

Properties of n™ roots of unity

(i) Let a = cos 2 +isin 2 e">* the n* roots of unity can be expressed in the form of a
n n

series i.e., l,&,a’,...a"". Clearly the series is G.P. with common difference «a i.e., ¢"*'".

(ii) The sum of all n roots of unity is zero i.e,, 1 +a+a’+....+a"" =0.
(iii) Product of all n roots of unity is (-1)"".

(iv) Sum of p™ power of n roots of unity

0, when pis not multiple of n

n,when pis a multiple of n

(v) The n, n' roots of unity if represented on a complex plane locate their positions at the
vertices of a regular plane polygon of n sides inscribed in a unit circle having centre at origin,
one vertex on positive real axis.

I/Vazz .0 1= =-DE"™ + x4+ x+])

O (sin@+icos@)=—i* sin @ +icos @ = icos @ —isin f)
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(3) Cube roots of unity : Cube roots of unity are the solution set of the equation x* -1=0=

x=M" > x=(cos0+isin0)”’ = x =cos 2’;"' +isin(2’;”], where k =0,1,2

2T 2T 4 4r ; !
Therefore roots are 1,cos 2. isin —, cos—+rsm? or 1,e2713 ¢4il3

Alternative : x=(1)'>= x*-1=0 = x- D> +x+1)=0

_pol+if3 -1-if3

2 72

If one of the complex roots is @, then other root will be »” or vice-versa.
Properties of cube roots of unity
() l+o+0” =0
(i) &’ =1
0,if r not a multiple of 3
(iii) 1+0" +0™ ={ , =
3,if ris a multiple of 3
(iv) @ =0® and @)’ =w and 0 @ =0".
(v) Cube roots of unity from a G.P.
(vi) Imaginary cube roots of unity are square of each other i.e., @) =0’ and
@Y =0lov=0.
(vii) Imaginary cube roots of unity are reciprocal to each other i.e., L »* and Lz =0.
o o
(viii) The cube roots of unity by, when represented on complex plane, lie on vertices of an

equilateral triangle inscribed in a unit circle having centre at origin, one vertex being on
positive real axis.

(ix) A complex number a +ib, for which | a:b|=1: J3 or 43 1, can always be expressed in terms

of im0
M Q If o =#=ez””, then o’ =#=e'“”3 =e¢ 3 or vice-versa
0.0=0.
Qa+bo+co*=0 » a=b=cifa, b, c are real.
O Cube root of - 1 are - 1,-o,-o”.
Important Tips
e 4x+l=(x-0)x-0%) o x?-x+1=(x+o)x+0?)
@ x2+xy+y2=(x—ym)(x—yﬂ)2) @ xz—ly+y2=(x+ym)(x+ym2]
e x4yt =) -iy) = ¥4y’ =(x4y)(x +yo)x +yo?)
e -y =@x-ya-yo)x-yo?) & iy 4 m gy —y - = (x +yo + 207 )5 + Yo +20)

@ %3 +y3 +z3—3xyz =(x+y+z)(x+my+&)22)(:c+mzy+mz)
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Fourth roots of unity : The four, fourth roots of unity are given by the solution set of the
equation x* -1=0. = > -DE*+1)=0 = x=+1, +i

[/Eai‘t : 0 Sum of roots = 0 and product of roots =-1.

U Fourth roots of unity are vertices of a square which lies on coordinate axes.
Continued product of the roots

If z=r(cos@+isnb)i.e., | z|=rand amp (z)=8 then continued product of roots of z'/"is
n=1
= r{cos § +ising), where ¢ = ZM=(n—l)z+9,
m=0 n
z,ifnis odd

Thus continued product of roots of z'/" = Acos{(n— )7 + 8} + isin{(n - 1)z + 6}] ={ o
- z,ifnis even

", ifn isodd
Similarly, the continued product of values of z"'"is= ¢ "
(-z)",ifnis even

Important Tips

@ If x+L=200s00r x-—=2isin then x = cos B+isin6, — = cos O -isin, x" +—— = 2os n, 1" - — = 2isin 0,
X X X X X

n
41
@ Ifn be a positive integer then, (1+ +(1-i)' = 22+ cos ';—” i

@  Ifzis acomplex number, then ¢ is periodic.

@ n™root of -1 are the solution of the equation z" +1=0

"), where a = n" root of unity

" =1=@=)iz-@)z-a%)..(z-«
(n-2)/2 2
" -1=(-Dz+1) H (2 - 2zc0s — = +1), if n is even.
r=l n
n-2)12
1_[ |:z,2 -2z cos[m]ﬂ].ifniseven.
n

u+]__ r=0

(n-3)/3
(z+1) H [ﬁ -2z cos(mj + l}ifn is odd.

n
r=0

@ If x=cosa+isina,y =cos B +isin B,z =cos y +isinyand given, x+y+z=0, then

o) Lolilag (i) yz+zx+xy =0 (i) x> +y>+27=0 (iv) X +y* +2° =302
Xy z

then, putting, values if x,y,z in these results

cos(B +y)+cos(y +a)+cos(a+ f)=0

x+y+z=0=>cosa+cos f+cosy=0=sina+sinf+siny 2> wz+zx+xy=0=
y p+cosy Frsimy S y+zx+ay {sin(ﬂ+n+sin(r+a)+sm(a+ﬁ)=0

ZoosZa=0
Zsin2a=0.

x* +y? +2° =31z, gives similarly

Zoos da=3cos(a+B+y) = Zsin3a=35in(a+ﬁ+y)

P4yt 422 =0 the summation consists 3 terms
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If the condition given be x +y+2z=xz, then sta =cos(a+ B +y)etc.

Example: 60

Solution: (c)

Example: 61

Solution: (d)
Example: 62

Solution: (c)

Example: 63

Solution: (c)

Example: 64

Solution: (a)

Example: 65

Solution: (b)

2.18 Shifting the Origin in Case of Complex Numbers |

If the cube roots of unity be 1,0,@”, then the roots of the equation (x-1)* +8 =0 are

[DCE 2000; IIT 1979; UPSEAT 1986]
(a) -11+20,1 +20" (b) -11-20,1-20" (c) -11-1 (d) None of these
-1 =-823x-1=(-8)"% > x-1=-2-20-20" = x=-1,1-20,1-20"
o is an imaginary cube root of unity. If (1 +0)" =(1+0*)", then least positive integral value of m is

[IIT Screening 2004]

(a) 6 (b) 5 (c) 4 (d) 3
The given equation reduces to (-o)" =(-0>)" = 0™ =1 > m=3.
If o is the cube root of unity, then 3+50+30°)” + 3+30+50%)" = [MP PET 1999]
(a) 4 (b) o (c) -4 (d) None of these

B+50+302) +@+30+50%) =(3+30+30° +20) +3+30+30° +20°)
= (20) +20*)’ =40? +40* =4(-1)=-4 (l+o+0’=0,0° =1)
Kkt 365
If i= J—_l , then 4 +5[_%+ g} + 3[_%+ g] is equal to [IIT 1999]
(@) 1-i3 (b) -1+i3 (© W3 @ -i3
3 1 3

334 365
Given equation is 4 +5 —1+i— +3-=+i—
2 2 2 2

=4+50™ +30% =4+50+30° =I+2w=l+2[-l;h/§] =if3

Let o is an imaginary cube root of unity then the value of
2+ 1)@ +1)+ 320+ D20 + 1) +.... +(+ Do + )no® +1) is [Orissa JEE 2002]

2 2 2
@ [n(n+l):| B ) [n(n+l):| (© ["("T“):I -n (d) None of these

2 2

r=l

n n n n n 2
= Z(r+l)(r2w3 +ro +ro’ +1) =Z(r+l)(r2 —r+l) =Z(r3 P arert=r+l) = Z(r3)+2(1)=["("2+ l)] +1.
r=1 r=l r=1 r=1 r=1

The roots of the equationx* -1=0, are [MP PET 1986]
(a) 1,1,i-i (b) 1-1,i-i (©) 1-l00° (d) None of these

Given equation x*-1=0 = (>*-Dx*+)=0=> x> =1 and x*=-1 = x=#+14i

Let O be the origin and P be a point with affix z,.Let a point Q ¥
has affix z with respect to the co-ordinate system passing through Q
0. f .
When origin is shifted to the point P(zy)then the new affix Z of f G
the point Q with respect to new origin P is given by Z=z-z, i.e., to 0 M ¥

shift the origin at z,we should replace z by Z+z,.
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Example: 66

Solution: (a)

If z,,z,,2, are the vertices of an equilateral triangle with z, as its circumcentre then changing origin

toz,, then (where z,,z,,z; are new complex numbers of the vertices)

(2) zi+z3+23=0 (b) z)2,+2,2:+2:2, =0  (c) Both (a) and (b) (d) None of these
In an equilateral triangle the circumcentre and the centroid are the same point. So,

1t t2
2y =%: Zy+2,+25 =3Z(|

To shift the origin at z,, we have to replace z,,z,,z; and z, by z; +2z,2> +20,23 +20 @and 0 +z, then
equation (i) becomes (z, +z4)+(z, +2)+(z5 +29) =30 +2¢) = 7, +2,+2, =0
On squaring z7 +2z3 +23 +2(z,2, + 2,23 +232,) =0

But triangle with vertices z,,z, and z, is equilateral, then z] +23 +23 = 2,2, + 2,23 + 23

From (ii) and (iii) we get, 3(z} +23 +23)=0. Therefore, z{ +23 +2; =0.

'2.19 Inverse Points |

(1) Inverse points with respect to a line : Two points P and Q are said to be the inverse points
with respect to the line RS. If Q is the image of P in RS, i.e., if the line RS is the right bisector of

PQ.

(2) Inverse points with respect to a circle : If C is the centre of the circle and P,Q are the
inverse points with respect to the circle then three points C,P,Q are collinear, and also CP . CQ
=r?, where r is the radius of the ¢

Example: 67

Solution: (b)

b

ks § R ]

<

21,25, are the inverse points with respect to the line za+az=5if

(3) zja+z,a=bh (b) zia+az, =b (¢) zia-az,=b (d) None of these

Let RS be the line represented by the equation za+az=»5

Let P and Q are the inverse points with respect to the line RS.

The point Q is the reflection (inverse) of the point P in the line
RS if the line RS is the right bisector of PQ. Take any point z in
the line RS, then lines joining z to P and z to Q are equal.
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i 2 2
Le, | Z_ZII=| Z—Zzl or|z-z;]1" =l z-2,l

ie,@-2)@-2)=@-2)@-29) = 2@y =20+ 2@ —=2)+ @12 =252)=0 s (ii)

Hence, equations (i) and (ii) are identical, therefore comparing coefficients, we get

_a___a __ b sothat, 4% _._% ___-b _zatez;-b

23-2 27U 2,2, 252 21y -21) 722, -2)) 2,2, -2,2, 0

(By ratio and proportion rule)

Hence, z,3+az,-b=0 Or z,a+az, = b.

Example: 68 Inverse of a point a with respect to the circle | z-¢|=R (a and ¢ are complex numbers, centre C and

2
radius R) is the point ¢+

a-c

2 2
L.l (b) - L

a-=c a-=c c-a

(a) e+

(c) c+ _R_ (d) None of these

Solution: (a) Let a’ be the inverse point of a with respect to the circle | z-¢|= R, then by definition the points ¢, a,

a' are collinear.
We have, argla'-c)=argla=-c)=-argla=c) (. argz = -arg?)

= argld-c)+argla-c)=0 = arg{(@-c)a-c)}=0

*3"
" (a'-c)@-c) is purely real and positive,
By definition | a'-¢|| a-¢|= R’ Cr cp.ﬁ
= | a—c|| a-¢|=R>? ¢l 214 zD
= | (@-0)@-0) =R’ = (@-0)@-0)=R> {* (@=-c)@ -c) is purely real and positive}
2 2
D d-c= é Therefore, the inverse point a’ of a point a, a'=c¢+——.
a-c a-c
2.20 Dot and Cross Product_
Let z, =a, +ib, =(a,,b,) and z, =a, +ib, =(a,,b,) be two complex numbers.
. - ) Z,(aa,
If ZPOQ =0 then from coni method =0 —Z—%le"’
zl _0 | Zl|
zzil =| 1 it zzzlz =l 2, 0 22,713 4 z,| e A Zy(ay,
25y |zl | zy] | z,]
= i3 o
= 2,7, 3 ;|| z,|(cos@+isinf)
= Re(z,7)4 z,|| z,/cos8@ ... (i) and Im(z,z))d z,l z,|sm@  ..... (ii)
The dot product z, and z, is defined by z,0z, 4 z,|| z,|cos@ =Re(z,z,)=a,a, +b,b,
(From(i))
Cross product of z,and z, is defined by z, xz, = z,|| z,|sin@ =Im(z,z,)=a,b, —a,b,
(From(ii))
Hence, z 0z, =aja, +b,b, =Re(z,2,) and z, xz, =a,b, - a,b, =Im(z,2,)
Important Tips
@  If 7,and z,are perpendicular then z,0z,=0 @ If z,and z,are parallel then 7, xz, =0
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= Projection of z,0n z, =(z,02,)/] 2,| = Pragjection of z,0n z, =(z,02,)/| 2|
. .1 R
& Area of triangle if two sides represented by z, and z,is El 2y X 25| < Area of a parallelogram having sides
zyand z,1s| z; xz,|

@ Area of parallelogram if diagonals represents by z,and z, is %l 2y X2,

Example: 69 If 7z, =2+5iz, =3-i then projection of z,0n z, is

(a) 1/10 (b) IIJE (c) -7/10 (d) None of these
Solution: (b) Projection of z,0n z, 2 U0% =a_’m= -l—.
| 2| Jai+b2 10
*kk
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